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Chapter 2
Employee Stock Options: What Every
MBA Should Know

1.

Explain the reasoning behind employee stock options as a source of compensation. What do options accomplish that salary and bonus adjustments don’t accomplish? Who in a company should receive employee stock options?

Answer:
Companies are often run by people who are not the major shareholders. Employee stock options offer a way to link compensation to incentives that are consistent with the goal 
of increasing shareholder value. Success most often occurs when there is a direct and transparent relationship between the actions of employees who receive stock options and changes in stock prices. It is for this reason that many people feel employee stock options should be given only to the top echelons in management, such as the board of directors, president, CEO, CFO, division heads, and department heads. 

2.

Develop a brief presentation for the head of your company’s human resource department on the advantages and disadvantages of compensating a CEO with at-the-money stock options.

Answer:
Possible Advantages:
a.
Align incentives and build membership

b.
Retention

c.
Help attract and hire talented CEOs

d.
Preserve cash by giving the CEO a piece of future growth instead of outright salary—especially when the company is a startup and has limited cash resources

e.
Reinforce skill and knowledge acquisition, which could be especially important for companies in industries with rapidly changing technological environments

f.
Leverage advantages: Out-of-the-money options provide employees (CEOs) with considerable leverage and therefore upward compensation potential

g.
Tax advantages: The discrepancy between the relatively low capital gains tax and the tax on ordinary income increases the value of options to recipients. 

h.
Permit the CEO to tradeoff current income for greater potential future income.
Possible Disadvantages:
a.
Many employees do not feel they affect the share price; so there may be no strong link between option incentives and employee performance. This would probably not be the case with a CEO.

b.
Stock options may dilute shareholder earnings and ownership.

c.
Moral hazard—employees stock options may encourage imprudent and risky behavior by the CEO.

d.
The CEO could increase volatility to make his/her options more valuable.

e.
Employee stock options may not be the best incentive for increasing shareholder value.

3.

Explain why the stock options received by employees may have market prices that are much different from the value placed on them by employees themselves.

Answer:
a.
Usually, options are neither tradable nor transferable. Therefore:

 i.
They cannot be sold to earn their time value.

ii.
Their maturity may not bear a close relationship to the exercise date (i.e., lengthening the maturity may not increase the value to employees).


b.
The threat of being fired means employees risk losing all the options’ value.


c.
Standard option valuation techniques do not consider vesting periods.


d.
Option values usually exclude transactions costs.


e.
Options are usually a large and, therefore, risky portion of employees’ portfolios. 
Stock option valuation implicitly assumes the owner has a completely diversified portfolio. 

4.

Explain premium-priced stock options. What are their advantages and disadvantages in terms of aligning employee interests with shareholder value?

Answer:
Premium-priced options set the exercise price above the current share price by a certain percent (e.g., 25%, 50%, and 100%). Their main advantage is they reward employees only if share price growth exceeds a hurdle rate, rather than rewarding any and all increases in share price. Their main disadvantage is they do not reward or penalize employees for their relative performance. For example in a down market (when all shares in an industry are falling), they do not reward the employees of companies whose shares are falling less than average. Similarly, in an up-market, they do not penalize the employees of companies that are performing worse than average but better than the hurdle rate. 

5.

Explain index options. What are their advantages and disadvantages in terms of aligning employee interests with shareholder value? To what should these options be indexed?

Answer:
Index options tie the exercise price to a peer index. Their major advantage is they make performance-based incentive compensation symmetric in both up and down markets. Thereby, they are able to reduce the variance of employee compensation. With index options, superior performance (relative to a peer group) is rewarded in growing and declining markets. Before an index option plan can be implemented, an appropriate performance measure (i.e., index) must be determined. Whatever index is chosen, it should filter out uncertainties that are beyond the control of employees. It should also be directly observable and resistant to manipulation. 

6.

What would you expect to happen to corporate dividends (i.e., rise, fall, or stay the same) for companies that introduce stock option plans? Explain. 

Answer:
You would expect them to fall because dividends reduce the ex-dividend share price and make call options less valuable.

7.

What would you expect to happen to the number and size of stock buy-backs at companies that introduce employee stock option plans? Explain.

Answer:
You would expect them to increase because stock repurchases raise the share price and make call options more valuable.

8.

Suppose Cadbury-Schweppes spins off Snapple as a separate legal entity and lists its shares on the NYSE. The CEO of Snapple decides to compensate top management with $4 million in stock options.

a.
How will the payment of $4 million in stock option compensation affect Snapple’s income statement?

Answer:
Under current U.S. accounting rules, the fair market value of employee stock options must be charged to a company’s income statement when they are granted. (These rules vary from country-to-country.)

b.
When the options are exercised, from where will Snapple get the shares to satisfy the demand by employees? What are the implications?

Answer:
In most cases, a company issues new shares to meet the demand, which could lead to stock dilution. Another alternative is to purchase in the market the shares demanded. Some companies grant exchange-traded options. When these options are exercised, 
no new shares are issued because the options are claims on already-issued shares.

9.

Use the information in the following table, where appropriate, to answer these questions regarding Snapple.

	Snapple Option Pricing Information

	Snapple share price
	$50
	Vesting period
	3 years

	Risk free interest rate
	4.75%
	Volatility
	35%

	Inflation rate
	2%
	Dividends
	$0

	GDP growth rate
	4%
	Strike price
	$50

	Maturity
	5 years
	
	


a.
Use the Black-Scholes formula to determine the market price for a Snapple option.

Answer:
Based on the Black-Scholes formula, the option price should be $19.4853 (( $19.49). The inflation rate, GDP growth rate, and vesting period are not used in the Black-Scholes formula to calculate the value of an option.

b.
Using the table and your answer from Question 9(a), suppose you were offered $100,000 of stock option compensation. If the options were valued at their market price: 

  i.
How many options would you get?

Answer:
100,000 ( $19.4853 ( 5,132.

 ii.
Is there a way to lock in the value of these options immediately? If so, how? If not, why not?

Answer:
One way to immediately lock in the value of these options is to sell the shares short, invest the proceeds, and exercise (or not) the options in five years. (This may be impossible if there are rules against executives selling short the shares of their own companies.)

	              Now             
	
	Five Years Later

	
	
	
	
	Example Share Prices

	
Action
	
Cash Flow
	
	
Action
	Below Strike Price (e.g., $10)
	Above Strike Price (e.g., $60)

	Short 5,132 shares
   @ $50/share
	$256,600
	
	Cover (Repurchase 
  Share)
	$  51,320.00
	$307,920.00

	Call option
	$           0
	
	Exercise or Not? 
	Not exercise
	Exercise

$307,920.00
$256,600.00
$  51,320.00

	Invest the funds
	$256,600
	
	Investment proceeds
 $256,600 ( 
    (1  0.475)5
	$323,613.63
	$323,613.63

	Return
	
	
	
	$272,293.63
	$  67,013.63


iii.
If, after three years, Snapple’s stock price rose by 10%, by how much (if any) will your stock options rise in value? If you exercised the options, how much would you receive?

Answer:
The new value would be $15.2847 (rounded, it equals $15.28), which is a decrease of $4.21 (i.e., $15.28  $19.49  $4.21). The option’s intrinsic value rose, but its time value fell.


If you exercised your options, the company would be your counterparty, and therefore all you would receive is their intrinsic value of $5 per option (i.e., $55  $50). For 5,132 options, you would receive $25,660 (i.e., 5,132 ( $5  $25,660), which is far below the $78,416.96 (i.e., 5,132 ( $15.28) you would have received if you had been able to sell them in the market.

c.
Suppose that in five years Snapple’s share price rose to $130. If you exercised your options:

  i.
How much, if anything will you have to pay at maturity/expiration (i.e., five years) if you wanted to own the shares?

Answer:
If you took delivery of the shares, you would pay $256,600 (i.e., 5,132 ( $50  $256,600).


(One question worth asking is how you would finance this purchase.)

 ii.
How much, if anything, will you receive if you cashed out? 

Answer:
If you cashed out, you would receive 5,132 ( ($130  $50)  $410,560.

iii.
How, if at all, would your answers to the questions above change if the share price rose to $130 in three years, and you exercised your options (i.e., exercised them in three years rather than five years)? 

Answer:
All the answers remain the same. Because the options are exercised against the company, if the share price rose to $130 at the end of three years, you would receive only the intrinsic value (i.e., no time value).






























































































